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1) Decrease 412 by 26%

2) Factorised?+5d +6

3) (4x10)+1x15

Answer: Answer: Answer:

4) A number is chosen at random from 1 5) (6+1)+92x16 6) Anamount was decreased by 6% to
to 75. Find the probability of selecting $152.66. Find the origina amount.
factors of 18 and 19.

Answer: Answer: Answer:

7)  Findthemedien of thefallowing setof cet= 8)  Find the percentage change from 311 9) 228/, + 24171,

25, 25, 15, 2, 22, 23, 6, 12, 36, 33, t0248.8
36, 6, 2, 4, 37, 20, 29, 20, 33, 17
Answer: Answer: Answer:

10) (2x2%-(@4x3)

Answer:

11) Find the value of 'd' by completing

the square of the following equation:

24+12d+20

Answer:

12) Convert thefollowing fractioninto a
mixed number: 3%/,

Answer:

13) Convert the following improper
fraction 2%/, + 314 into amixed
number

Answer:

14)  What would you multiply by to
decrease an amount by 41%?

Answer:

15)  Increase288by %/, ,,

Answer:
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16)  42x(-27)

Answer:

17) Round 26.449366166 to 3 significant
figures.

Answer:

18) $413.00 earning 5% compound
interest for 8 years.

Answer:

19) A number was shared in theratio
26:52. The smaller share was 74.
What was the larger amount?

20) A number was shared in the ratio
26:52. The smaller share was 74.
What was the larger amount?

21) A number was shared in the ratio
26:52. The smaller share was 74.
What was the larger amount?

Answer: Answer: Answer:
22) Find area of 23)  8346.6-1834.3 24)
b rectangle having 39 Find Volume of
sidesa= 2416 ft Cylinder
a and b = 1890 ft .
Answer: Answer: Answer:
25)  Findthemode of the following set of data: 26) Solve by factorising 27) $46.20 earning 10% compound

183, 183, 183, 183, 183, 183, 183,
63, 63, 63, 63, 63, 125, 125, 125,
125, 125, 125, 125

Answer:

j2+4i-12=0

Answer:

interest for 3 years.

Answer:

28) 7116 x 4216

Answer:

29) Convert the following improper
fraction 137/, + 12 into a mixed
number

Answer:

30) 'What isthe probability of rolling a
number less than 4.whenrolling a
dice

Answer:
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31) (2x99-(3x97)

Answer:

32) Decrease290 by /g

Answer:

33) Solve18g2-1q-19=0
Round your solutionsto 1 decimal
place.

Answer:

34) Round 12.457905436 to the nearest
whole number.

Answer:

35) Find the percentage change from 191
to 382

Answer:

36) /

‘Name the type of angle.

Answer:

37) Round 7.234834246412 to 3 decimal
places.

Answer:

38) Findthevalue of 's by completing
the square of the following equation:
2+65+8

Answer:

39) Factorisej2+5j + 6

Answer:

40)  Increase55 by Y,

Answer:

41)  Increase55 by ¥/,

Answer:

42) 281925+ 525

Answer:

R

A=T77 B
Find the Angle at side B.

Answer:

44)  Factorisej? + 7j + 12

Answer:

45) Find the percentage change from 204
to 306

Answer:
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46) Convert the following fraction into a
mixed number: 7/, -

Answer:

47)  Factorise 8j2 + 20j + 12

Answer:

48) Find the value of 's' by completing
the square of the following equation:
2+4s+4

49) 08:42 am To 05:37 pm

50) \

Find Volume of

t0 359.6

-1,-0.3,0.1, 11, 17,-0.2

Cylinder
Name the type of angle.
Answer: Answer: Answer:
52) Find the percentage change from 155 53)  Findtherangeof thefollowing set of datar 54)  Find the percentage change from 268

to 335

Answer: Answer: Answer:
55)  2579.6 + 118.7 56) Find area of square 57) Anamount was increased by 2% to
having each side () $164.00. Find the original amount.
s equals 6516 cm
s
Answer: Answer: Answer:
58)  (-3440) + (-80) 59) 26Y,,+ 251Y,, 60) Find area of
. . triangle s = 8989 ft
s
Answer: Answer: Answer:
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61) 23,-%0,, 62) 33,6 x 18/ 63) Find area of square
having each side (s)
s equals 4951 m
5
Answer: Answer: Answer:
64) Anamount was increased by 9% to 65) Slg-16 66) Find perimeter of
$76.00. Find the original amount. b rectangle having
sides a= 5896 ft
a and b = 4809 ft
Answer: Answer: Answer:
67) 48525+ 35253 68) 94 x 100 69) Decrease 146.6 by 61%
Answer: Answer: Answer:
70) (-5251) + 3553 71) (1+8)x(19+19) 72) Find the percentage change from 310
to 403
Answer: Answer: Answer:
73)  Write 7 x 10° asanormal number. 74) 1722 + 42 75) 'What isthe probability of rolling
factors of 10.when rolling adice
Answer: Answer: Answer:
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76)  Write4 x 102 as anormal number. 77) 8y, -2, 78)  Write4 x 103 asanormal number.
Answer: Answer: Answer:
79)  Write4 x 103 asanormal number. 80) 4,0+ 25, 81) b /
a 0 c
Measure angle boc
Answer: Answer: Answer:
82 b 83) 207-1074 84)
Find the next three numbersin
the sequence
a o c 0112358 , ,
Measure angle boc
Answer: Answer: Answer:
85) Solve by factorising 86) 1 Iy 87) 19681.2+ 252
d2+4d-12=0 125
Answer: Answer: Answer:
88) Decrease 184 by 76% 89) 878.8 - 3832 90) Find the mode of the following set of data:
112,112,112, 112, 101, 101, 101,
101, 191, 191
Answer: Answer: Answer:
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91) 8600+ 100

Answer:

92)  56.6x77

Answer:

93) 76000 + 1000

Answer:

94) Find the mode of the following set of data:

Answer:

82, 82, 153, 153, 153, 74, 74, 143,
143, 143, 197, 197, 197, 197, 197

95) 'What isthe probability of rolling a
number less than 3.whenrolling a
dice

Answer:

96) Share 84 in the ratio 34:50

Answer:

25/, into an improper fraction.

Answer:

97) Convert the following mixed number

98) Round 14.656599066356040 to 13
significant figures.

Answer:

99)  Decrease 206 by 4/, 5

Answer:

100) Round 23.58617975711715t0 9
decimal places.

Answer:

Total: /100
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1) 304.88
8) -20%

15) 298

22) 4566240t
29) 26%,,
36) Obtuse

43) 103

50) Acute

57) $160.78
64) $69.72
71)

78) 4000
85)d=2o0r-6
92) 4358.2
99) 198
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2) (d+2)(d+3)
9) 31407, o
16)

23) 6512.3

30) ¥,
37)7.235

44) (j +3)(j +4)

51) 34500.970521723
58) 43

65) 347/, 4,

72) 30%

79) 4000

86) 5

93) 76

100) 23586179757

3

10) -8716

17) 26.4

24) 186356.13461829
31) 774840978

38) (s+3)2-1

45) 50%

52) 132%
13

50) 11%/,,,,

66) 21410ft

73) 700000

1

80) /s

87) 78.1

94) 197

Answers:
290,
11) (d +6)2- 16
18) $610.19
25) 183
32) 285
39) (j +2)( +3)

46) 4%/,

53) 18
60) 34988344,732832ft
67) 8377.8

74) 41

81) 50

88) 44.16

95) 4

Sr: 05032024-3493

MATHS WORKSHEET %«'

GEMERA i

5) 6) $143.50
12) 2%/, 13) 3378/,
19) 148 20) 148
26)j=20r-6 27) $61.49
33)g=11or-134)12

40) 60 41) 60
:17‘)1)(81 10 45 (54202
54) 25% 55) 2698.3
61) 61/ g, 62) 6%/,4
68) 9400 69) 57.174
7)1, 76) 0.04
82) 50 83) 2%/,
89)-29532  90) 112
96)1:83 97) %9,

11-PLUS
SATS
GCSES

A0
{'”ﬂ'—)

7) 345

14) 0.59

21) 148

28) 30001056
35) 100%
42)53.7

49) 08 Hours 55 Mins

56) 42458256cm
63) 24512401m

70) -1698

77) 3%,

84) 13,21,34,

91) 86

98) 14.65659906636
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